o= (24—E) No.1
BEEsS T % [g=]
(1) 242 6
(2] x==1, y=-—6 6
(R 3) 105 pr 6
(54 22 & 6
13
5 = 6
(fH1) (—4, 0) 6
(1) 32 cm? 7
(2) EPRWYESOBITFREME n &L, E 2yl
pap | EEPAREQC HETE,

AOBQ=AO0OBP=4 ¢, B(~2 1) ThHBEME,
t>0®k%,AOBQ=%xtx%4 L0 1=4
;or,ﬁ@n@ﬂﬁy:—%ﬂ4aanlﬁ@na@mm

y=——%x+4
DS P OEEDE, M FBRR
- BT, (=2, 5) kB, 10
I<Om k&, /_\OBQ=%~><(—-t)x2=4 rn t=-4
;or,gﬁnmﬁuy:—%pAa&o,gﬁngg@m
1
v——-—z—x—4
DiEE P OEER, ErFRR .
}’:?x-i—ﬁ
BHERLNT, (=10, 1) & B,
Lo, B POERR 5(%‘1;{_) (=2, 5% (~10, 1)
(=2, 5), (=10, 1) Th 5, E e T
258C, BEiEL,
AADP & AABC 2T,
HELY LAPD =ZAQB - ®
AB lzki A FERARE LD
ZACB=/AQB - @
@, @LY LAPD =ZACB - ® ,
(R 1) S, EEAATHONE 10

fREH

LDAP = £BAC - @
®, @®LY, 2EOABERTNELVIND
AADP oo AABC
LizoT ZLADP=LABC
T, RO AMEALY  LABC =90°
ot LADP =90°




]

- (24—HE) No.2
MEES iE & B
(2] 6
REH
AS—/B P>
(F3) RQ:QP=3:4 7
(Ri1) 24/19 cm 7
98
(1) t=—== 7
11
(2) (1] 6stsToex A
D
BRE B AP, Qi tBRlicEhEh tem, 2fcm X, N '
6<1<7, 12526514 XU, 23S FG kiz [\, ;
BB, LENST, PQ=2t—t=t 1Y, &1 V\B AV
-._1_ :_.1'_ — “\ \\‘ :
AEPQ=-5XPQXEF=7 x1x6=3t Bz dommeaes S
koT, ZfTVA-EPQOERIL, N BT s
%—xAEPQxAE=%><3t><6=6t (cm?) 6 N
\ e G
ZNS40(cmd ISR B DI, 66=40 £V t=—239— ) FP——s—"0Q
Zhit, 6T 2L TV 3,
(2 ) 2 Tst<00kx A D
w2 AP, Q2 eBMICENER fom, 2cmigs,  No ;
7<t<10, 1426520 k9, APDFG L, ; 10
RQ LD GH L b B, LESoT, B s e
FP=t-6, PG=14—¢t, GQ=2t-14," y RN
ERzezgudp---m=n-< ‘;'\H
QH=20—2¢ Y . 5,
Y, AEPQ=EFXEH-—xEFxFP RN
;%xPGxGQ——;-xQHxEH F_7p ; G
=6x8-%x6x(:——6)—-—;—><(14—t)x<2t—14>—-%x(20~2t)><s
=$2-16¢+ 84
koT, ZATVA-EPQOEHI,
%XAEPQ><AE=—§—x(t2—16t+84)><6=2(tz—16t+84) {cm?
A 40(cm? i ip B oix, 2(¢2-16¢+84)=40 EMWT,
C 2-16t464=0 kY (t-87=0 LoT t=8(%)
ThiL, TSES10 BHE LTV, s -
‘ 20 g i) =2, 8 |
Bk, (U &Y, t=25, 8 @) (& 3 ;




